Practice #2 VERTICAL
ALIGNMENT
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Complete the following table for missing stations and elevations.

STATION ELEVATION
2+50 150.00
3+00 148.00
4+00 144.00
5+00 140.00 —4.000%
6+00 136.00
7+00 132.00
8+00 128.00
8+25.00 127.00
8+50 126.09 y
9+00 124.84 PVI = 9+25
9+50 124.34 PVI Elev. = 123.00
10+00 124.59 Length = 200.00°
10+25.00 125.00
11+00 126.50
12+00 128.50
13+00 130.50
14+00 132.50 +2.000%
14+75.00 134.00
15+00 134.43
15+50 134.91
16+00 134.87 \J
16+25.00 134.66 PVI = 16+25
16+50 134.35 PVI Elev. = 137.00
17+00 133.60 Length 1 = 150.00’
17+50 132.66 Length 2 = 250.00°
18+00 131.54
18+50 130.23
18+75.00 129.50
19+00 128.75 —-3.000%
20+00 125.75
21+00 122.75
22+00 119.75 y
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Key

Lo Pt =9+58.33
Lo Elev. = 124.33
Puddle 0.25 deep
From 9+99.16
Thru 9+17.51
L=81.65’

Hi Pt = 15+71.00
Hi Elev. = 134.96



